ool § IR OE (RO

2 8- Bics5:._ Aa7:
(=5)) —5= 7D 4 (—4) =
(-10)* = (=6) = (=6)"" = (-10) =
(—9)( 2 —3 = (=9) D +5=
(9" (4= (-6)"" - 7=
(-3)7+(-6) = (-10)V +(-9) =
(=5 =(-7) = (~4)* +8=
702 4 5 = 30D 4 (=5) =
102 -2= (-8~ (-6)=
(-4 +9= (—4)D 42 =
16D +4= 5V —(—2)=
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A HI: HICE:_ 237:
(D =5= (o) = (42 T ()= () = (B
(=10)2 = (=6) = 106 (-6 = (-10) = % = 9%

(D -3= (=20 (9 V5= —ag

oD ey — Al N R N |
(= ()= (4 (6 -T= ()= (T

53 8 91 1
— (_2)_|_ — — (—— ) = (—8_— — (_1)+ — = (—— \ = (—O0
(—3) ) =(C5)=5,)  (10) (9 =(15) = )
(-5 —(-7) =32 (—4)> +8=124
246 1 14 2
(_2)+ - = 8§__ (_1)_|_ — —(——\\ = (—A4—
7 5= 20 =52 3 (=) =C75)=043)
162 —2 = (1) (—8)* — (—6) = 70
145 1 33 1
D rg= 12 _ gL NG BT S R
(=4) ’= 6 716 =4) SRTIREST:
. 51 1
1) +4=5 S - (2)= 55 =252
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